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Find the range of 7cosx-24sinx+3sin2A

183 8& harow

7. Find the equation of the plane through
the point (3, -2, and 1) and
perpendicular to the vector (4, 7, and
4).

8. Find the area of the parallelogram for
which the vectors a=2i—3; and
b =3i -k are adjacent sides.

9. Find the area of the parallelogram
having a=2j—kand b=-i+kas
adjacent sides.

10. Find the area of the triangle whose
vertices are A(1, 2, 3), B(2, 3, 1) and
C(3, 1, 2).

11. Find the volume of the parallelepiped
having coterminous edges i+ j+k, i—j
and i+2j—k.

12. Find the volume of the tetrahedron
having the edges i+j—k, i—jand

5. Ifcoshx= % then find the values of
cosh(2x),sinh(2x).
6.  P.TSinh(x +y) = Sinhx Coshy + Coshx Sinhy

PROPERTIES OF TRIANGLES

SAQ(2X4=8)
1. Show that
abc

a’ cotA+b2c0tB+czcotC:T.

1 1
+ =
a+c b+c a+b+c

2. In A4BC,if , show

that C=60".
3. Prove that
a+b+c?
an
4. If cotg : cot%:cot% =3:5:7, show that

cot A+cot B+cotC =

i+2j+k. ab:ic=6:5:4.
SAQ(2X4=8)
5. Show that
3. Eliminate ¢from the, : :
13. Let a=4i+5j-k, b=i—4j+5kand x:zg;z; r:obnslinSt; 18. If 4, B, C are angles in a triangle, then acost Aibeos Brccost Cogid
¢=3i+ j—k.Find vector awhich is . o s prove that 2 2 2 R
; 4.  Find the periods for the given 4 B C fam h h
perpeg;ﬂllcular to both g and b and o — sin A+sin B+sinC = 4cosEcosEcos—. 6. If a=(b+c)cosd, then prove that
a.c=zl.
14. If a=2isj—k b=—i+2j—dkand ) c05(4x5+9) 19. IfA, BilC are angles in a triangle, then sinf = 2};{? COS;
- that ¢
c=i+j+k,then find(axb).(bxc). - . . ) PIOXE _ . . )
15. Letaand b (i) Bind misine fmction whose period.is| = cos2A-~eosdBteosiC=l-Asndes BENC. | 4 Proyethat ot cots-+ cot% -

be vectors, satisfying |d| =|b|=5and (q,
b) = 45°. Find the area of the triangle
having a—2band 3a+2bas two of its
sides.

16. Find the vector having magnitude 6
units and perpendicular to both 2i-%
and 3j-i—k.

17. Find a unit vector perpendicular to the
plane determined by the points
P(1,-1,2), 0(2,0,-1)and R(0,2,1)

5. If A+B=m/4 then
P.T(1+tanA)(1+tanB)=2

0 0
6. Evaluate: (i) sin’ 82% —sin’ 22%
(ii) sin® [£+ﬁj—sin2 [i—ﬁj
8 2 8 2
7. Find the range of 7cosx—24sinx+5.
sin24.
9. Prove that cos55° +cos65’ +cos175" =0.

10. Prove that cos48°.cos12° :%,

20. If A, B, C are angles in a triangle, then
prove that
cos® A+cos® B—cos’” C =1-2sin Asin BcosC.

21. In triangle ABC, prove that

A B C
c0s—+c0s—+cos— =4 cos

cos

4

HYPER BOLIC FUNCTIONS
VSAQ&SAQ((2+2+4=8M)

T—A 7—B z—(
cos——

8. Show that %+%+%+%:¢.
roronon A

9. Show that r+r,+5—r, =4RcosB.

10. In A4BC,prove that
r+n+r,—r,=4RcosC.

LAQ’s

11. In A4BC,if AD, BE, CF are the
perpendiculars drawn from the vertices
A, B, C to the opposite sides, show

) —13.Jp|= b =60

18, If |a| 15 {fj=rand ah=60; thentfind 1.sinh x =3/4 , then find Cosh(2x), Sinh(2x) hat (i 1 1 1 1
|a><b|. that (1) E‘Fﬁ‘i'&:;and

19. Ifa=i+2j—3k,b=3i—j+2k then SAQ’s 2"4:8‘3 ; 2. Forany xeR, prove that (abe)’
show thata+banda—b are 11. If coser =?and sin 8 =E,Where cosh* x—sinh* x = cosh 2x). (i) AD.BECF = Tl
perpendicular to each other. ) . .

210, Find the.area of the triangle whose %<a<nand O<ﬂ<§,then find the 3. Ifu:loge(tan(%JrE)]and if cos@>0, 12. In AABC,if 1, =8,r, =12,r,=24,find g, b,

vertices are A(1, 2, 3), B(2, 3, 1) and
C(3,1,2).

21. Prove that the angle 6 between any two
diagonals of a cube is cos® =1/3
22. A line makes angles 6,,6,,6,and 6, with

value of tan(a+ f)and sin(a+g).
12. In aAA4BC,A is obtuse. If sin A = %and

sin B = i,then show that sin C = E.
13 65

13. Prove that

then prove that coshu =secé.
4. Show that:
(cosh x +sinh x)" = cosh (nx) +sinh (nx) for

any neR.

c.
13. Prove that

L TyL_LjfL_1)_abc_4R
ron\r n)\r g TN
14. Show that

7

the diagonals of a cube. Show that cos* Ly oot Brcos Eonr L,
oall s a3 4% wauld® 3
) 20 29 29 4 sin §+sm _8 +sin” —+sin —:E. 2 2 2 2R
€087 008" 0+ 008 Uy + 0080y =+ 15. If p,, p,, p,are altitudes drawn from

23. If a=2i+3j+4k,b=i+j—kand
¢=i- j+k,then compute ax(bxc)and
verify that it is perpendicular to a.

14. If A + B, A are acute angles such that
sin (A + B) =% and tan A = % then

find the value of cos B.

vertices A, B, C to the opposite sides
of a triangle respectively, then show

that: (i) —+——+- (i)

24. If a, b and c are non-coplanar vectors, 15. cosAcos(£+AJcos(£—A] _1 s34 Hence D, D
then prove that the four points with 3 3 4 1 1 1 1
position vectors —t———=—
2a+3b—c, a—2b+3c, 3a+4b—2c and deduce that cosﬁcosz—”cos%cos%:%. b P Psh
2
a—6b+6c are coplanar. (i) p, p, p, = (abe) s
25. If a=i-2j+3k, b=2i+j+k, c=i+j+2k TTRETO8RY abe
then find (axb)xcand (axb)xcand LAQ(7M) 16 If a=13,b=14,c=15show that
|ax(bxc)|- 16. If A, B, C are the angles of a triangle, R :ﬁ,r =4, :ﬂ,rz =12 and 7 =14.
prove that 8 2
TRIGONOMETRY UPTO (@) , _ o
TRANSFORMATIONS sin2A4+sin2B +sin2C = 4sin 4sin Bsin C.
VSAQ (2x2=4) (i1)

1. If cos@+sin@=+/2cosb, prove that

0860 —sin 6 =2 sin6. 17. If4, BEthare angles of a triangle, N e e
_ . prove tha Madhapur, Hyd.
2. Prove that | ik seci=H) _ bt c0s2A4+cos2B—cos2C =1-4sin Asin Bcos: 9701105881.

(tanf-secd+1)  cosd

sin2A4+sin2B —sin2C =4cos Acos Bsin C.
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